Time :

Lo

=
e

L
12,
13.
14.

16.

T

Complementary Course—History
SOCIAL FORMATIONS IN PRE-MODERN INDIA

(2013 Admission onwards)

Three Hours

Mart A

Answer all the following questions in one sentence each.

Eacl guestion carries 1 mark.
Unieorn. _
Ochre coloured pottery culture.
Akananuru.
Sedentary Agricultural Seciety.
Baivite Nayanars.
Urala Sabha.
Persian wheel,
Tﬂkl":ﬂ I:_'.l]'I'TEI'II:'.:\r.
Eharif harvest,

Jagirdari system,

Part B
Answer any eight of the following short notes.
Each question carries 2 morks.

Analyse the technology of Indus seals.
Where did the social stratifications commence under the Vedic Age ?
What were the salient features of the Sangam Society 7
Examine the life of the peasaniry under the Guptas.
Explain the emergence of closed sconomy,

How did the lemples decide the social formations ?
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Point out the role of Gharu-hala in the agricultural expansion under the Mughals.

Trace the maniime trade of the Mughals.

How did the Bhakti movement decide the social formetions in South India ?

(Bx2=18)

Part C
Angwer any six of the following short essays.
Each question carrizs 4 marks.

Assess the importance of urhanism wnder the Harappan Civilization,
How did the religious policy of Azoka change the social formations ?
What wore the sources to the study of the Sangam Age 7
Why did irade decline during the post Gupta peried ?
What were the salient features of templé centred economy ?
Sketch the political economy of the Delhi Sultanate.
Did the Navankara system promote the growth of Warlordism ¥
Trace the monstary system of the Mughals.
Sketch the significance of the Mansabdari system.

(B wd=24)

Pari D
Anawer any two of the following essays,
Each guestion carries 15 marks.
Estimate the role of heterodox religious in deciding the social formations.
Review the nature of Indian feudalism.
Describe the social formations of the Vijayanagaras.

Diseuss the social legaey of the Bhakti movement.

(2= 15 = 30)



